o

VSN 90026 YO ‘0408ST1IH
3AIJA NOLdINOD 3N S611
"ONI ‘SWILSAS ¥VNV1d

e —————

dVNVid

'SINILSAS HYNV1d A9 ONILLIIM

NI @3ZI4OHLNY SSTINN ALYVd QHIHL ANV OL O
SINILSAS ¥YNV1d OL SIDIAYIS 40 ONIHSINGNA
3HL YO S1ONAO0YHd 40 ONIINLOVANNYIN

3HL ¥O4 SISV SY d3sn 38 LON AV ANV ATNO
$3S0d¥Nd NOILLOIASNI HO/ANY ‘NOLLYNTVAI
‘ONIYIINIONT ‘NOILYOIHLLNIAI ‘NOILYWHOANI
¥04 a317ddNS SI ONIMYNA SIHL "a3LIgIHOYd

SI SW3LSAS ¥VYNYId 40 NOISSINYId NILLIEM
3HL LNOHLIM 3TOHM ¥O Lyvd NI NOILONAO¥d3Y
ANY “ONI 'SWILSAS HYNV1d OL AYV13IHdOYd
NOILYWHOLNI SNIVLINOD ONIMYYHA SIHL

‘'ON Lyvd

<

'[SIHONI] SYILIWITTIN NI IHY
SNOISNIWIA a314193dS ISIMYTHLO SSTTINN

MBIAIBAQ 1oNpPoId
Q37 seuwes wils @ubimoalq

10NAaoydd

aNITLNO
NINS LHOI'1LO3dId

31LIL 133HS

DVE

DRAWN BY
DRAWN DATE

10/01/2024
1 0F 10

SHEET SIZE REVISION

SHEET

A

IDE
x>
a0
<
- <
N
W
A/
(a] Ay
o
-
>= w
oz
NS
ek
mmu
2 —l
0|22
(7,] —
Zhray
> 4
Ll
oz
N
o<
(4
-
Ll
Ll
-
(7¢]
(o)
O
(TN}
(90)
<

SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.

1.

NOTES: UNLESS OTHERWISE SPECIFIED.



1. SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.

NOTES: UNLESS OTHERWISE SPECIFIED.
4

Sheet Number

Sheet List Table
Sheet Title

1195 NE COMPTON DRIVE
HILLSBORO, OR 97006 USA

PLANAR SYSTEMS, INC.

PLANAR

—

DIRECTLIGHT SLIM OUTLINE

KEY & INDEX

DLSLIM PRODUCT OVERVIEW

DLSLIM CHASSIS OVERVIEW

DLSLIM MODULE OVERVIEW

DLSLIM FRONT ACCESS MOUNTING

DLSLIM REAR ACCESS MOUNTING

DLSLIM MOUNTING ACCESSORIES

N0 |NONO [ A WIN

DLSLIM WALL BRACKET MOUNTING

O

DLSLIM CABINET TRIM

DirectLight® Slim Series LED
Product Overview

PRODUCT
PART NO.

KEY & INDEX

UNLESS OTHERWISE SPECIFIED DIMENSIONS

ARE IN MILLIMETERS [INCHES].

>

SHEET TITLE

[]
b3)
>
B3
=z
@
2

DVE

DRAWN DATE
10/01/2024

SHEET 2 OF 10

SHEET SIZE REVISION Q

O



(@] O m <

A

‘ 'SWILSAS ¥VNVd A8 ONILIMM ‘[STHONII SYILIWITTIA NI THY
VSN 90046 4O OHOESTIIH NI Q3ZIMOHLNY SSTINN ALYVd G¥IHL ANY OL ¥O - SNOISN3INIA d314103dS ISIMYIHLO SSITINN
IAIHIA NOLJNOD 3N S6L1 SIWILSAS ¥YNY1d OL SIOINYIS 40 ONIHSINGNA .
“ONI ‘SINILSAS HVYNV1d 3HL O SLONAO¥d 40 ONIMNLOVANNYIN ON Lyvd NME=) 3
3HL ¥O4 SISVE SV a3SN 38 LON AVIN ONY ATNO w m ~ |2
$3S0dHNd NOILOIJSNI HO/ANY ‘NOLLYNTVAI w =
~ ‘ONIYIINIONS ‘NOILVOIILNIA! ‘NOILYWHOANI >>® _>L ®>O H.O 3 UOL & w W @) 4
@ 404 A311ddNS S| ONIMYYA SIHL ‘a3LISIHONd . >>m _>m m>o I S "
SI SWALSAS HYNVd 40 NOISSINYId NILLIM m m _L m _ m _ O m.h _ 5 S| M
3HL LNOHLIM FTOHM HO L¥Vd NI NOILONAO¥dIY D m |— m E _ w @H r— l_H. D |_|O D D Om & _\/_ _ I_ wl_ D M z = I
ANV “ONI ‘SWILSAS HYNY1d OL AY1IIMdO¥d . " " . = M ] ]
NOILVINHOSNI SNIVINOD ONIMVHA SIHL 19$NAao¥d ILIL 133HS |5 < 5 &

SN "o'o
S8 oo
o't
— ~No —
N,
S0
g
<
SN
— O
"
d
1 2of | I ]l e | | °
w T‘
<
Sg e 99z
= = x
2 £ 5 590
o <X > S22
NERTs! Qo x i
—™ W o N2
— Ir =z > _Alﬁ
mU w z
7 u ‘< O = O
— > N o
7 Z o
T T
o
j—
= N / O
2 I G 3
f—
m | 7 3
= = z 05
.|AE
> WXCR
Z — 0 ¥ QO
O Z SEOo
= O < uwig
< AI.M_QVS
a N\
/. — N\

4X M5X0.8
4X M8X1.25

4X M5 CLEARANCE—

£
£
0
B>
@
o
<
un
=
<
N

2X M5X0.8 ¥ 8mm

2X M5X0.8 ¥ 8mm
SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.

2. ALIGNMENT PINS REMOVABLE FOR TOP ROW.

NOTES: UNLESS OTHERWISE SPECIFIED.

1.



(@] O m <

‘ 'SWILSAS ¥VNVd A8 ONILIMM ‘[STHONII SYILIWITTIA NI THY
VSN 90046 4O OHOLSTIIH NI Q3ZIMOHLNY SSTINN ALYVd G¥IHL ANY OL ¥O - SNOISN3INIA d314103dS ISIMYIHLO SSITINN
"ON Lyvd

A

IAIHIA NOLJNOD 3N S6L1 SIWILSAS ¥YNY1d OL SIOINYIS 40 ONIHSINGNA

BVNWVId |-iiis | g3 seles wiis @UbImoand | sissvho NsTa

NOILYIWHOANI SNIVLNOD ONIMYHA SIHL 10Naodd 31LIL 133HS

. ‘ < =
ONI ‘SINFLSAS HVYNV1d JHL O SLONAOYd 40 ONIMNLOVANNYI Q| ©B
3HL ¥O4 SISvE SY A3sN 39 LON AV ANV ATNO E o ~ Nv

$3S0dHNd NOILOIJSNI HO/ANY ‘NOLLYNTVAI >>® _>L ®> O 3 O.h > TS >

‘ONIYIINIONT ‘NOILYOIHILNIA! ‘NOILYWHOANI & D m O o

404 A311ddNS S| ONIMYYA SIHL ‘a3LISIHONd . >>m _>m m >O S "

- <N

2}

—

w

[

T

)

DRAWN BY
DRAWN DATE

)’l s
.4’4 i'{'/ ‘l}4l4 I‘ 'd A3 ‘f '4 VASER VAP AV ‘4'4 I"
PQ \, ‘. ‘l PQI 114\24\'1 [Q\Q

Agm\xm

\\ Is-tr‘fl\‘. NI \\\. 's-- ‘l.?i
o!!I, A B\ .I/! W

!_.L QANAVARVAYTS. ,n><\'<. <r4.b<}

;
[
:

RETRACTABLE
CONNECTOR
\ S

[11.90]
302.3

of
L
T
L
CABINET POWER
INPUT PORT

‘0'm

— ~No — T z a)
33 T I8 oY >

=4 | o ..
—o mmA_ == mMu
bho A Iw B
- | ﬁ ms
* o / ”A. by ﬁVu
@)

o
°
o
o
/l;
I

<K
<O
Qo
5 =)
Emm a3 L Zzo
> S <O o Z
= o a2 <
o w oz [a'4 O L
OZopokr O O 2 = 0T o
O O O < Y = O O
E oExz ANn ANn x5 < v
zZ z 50909 o 0 5g < 23
w o ; o uv
. *//
+ MO,
ez

B0 ——— g o

z v
<H A
N
O =L
wey O
q¢ =
== =
=2 3z
_I_LL
HA Z
—Z O
z0O E
Iz <
EFEW
2080
-5
LE0L
=Z0O
i 2600 u
MU wv T UAM =
&0 29 SEIZ 2
— a2 RR_AMB z
mnmm W T v o=z v W e v Em WAUWMMW 3
o =0z ¥ e S %2 z 2L seol 2
< = £ O x = o oo . 2 ¥ =T
= Q<O O O O o> s < @) a>=Z5 =
—= (= O b S w z zZ S0 2] = >sd W
X = O O < 1% a) [a) O (%)
Do < Ox2 Z .
o5 O O < A_n =0 < o
g S < = o N au<2 T
- & ¥ a < z G S CZ 0% Q
[ < AH — Zawm O h|
095 O s50<zZ =
L & (@) OO . 5
<0 00Ql w
= 5 v YT 5
ST 002P3s 2
= UNOWGU %
nooazv W
ZEHZ0Y £
ZOCSEZ §
oZHI<Q
ﬂ_L ) oof 1 | ] oo [ 1 [ Joo @ WH&pNuN_A 3
CRH&NC =
< iZnhZ= S
El<oul @
x2TO¥35 =
. . O
™ z

D

C

B

A
2.
1



(@] O m <

‘ 'SWILSAS ¥VNVd A8 ONILIMM ‘[STHONII SYILIWITTIA NI THY
VSN 90046 4O OHOLSTIIH NI G3ZIMOHLNY SSTINN ALYV QHIHL ANV OL ¥O - SNOISN3NIA a314193dS ISIMETHLO SSFTINN A
IAIHIA NOLJNOD 3N S6L1 SIWILSAS ¥YNY1d OL SIOINYIS 40 ONIHSINGNA .
“ONI ‘SINILSAS HVYNV1d 3HL O SLONAO¥d 40 ONIMNLOVANNYIN ON Lyvd NME=) 3
3HL ¥O4 SISvE SY A3sN 39 LON AV ANV ATNO E m ~ Nv
$3S0dHNd NOILOIJSNI HO/ANY ‘NOLLYNTVAI = =
~ ‘ONIYIINIONT ‘NOILYOIHILNIA! ‘NOILYWHOANI gm —E ®>O H.O 3 UOL & w m Fn_w %
@ 404 A311ddNS S| ONIMYYA SIHL ‘a3LISIHONd . >>m _>m m>o I S "
m<z<4 - SI SINALSAS ¥YNY1d 40 NOISSINYId NILLIIM DMl_ mm_.hmm E__w @Hsm_l_ﬂom.:o & B-| 0N
3HL LNOHLIM 3T0HM HO 13Vd NI NOILONAO¥d3IY z Z
ANV “ONI ‘SW3LSAS HVNY1d OL AHY13INdO¥d " " " . m I_ D D O _\/_ _\/_ _ I_ ml_ D M M m m
NOILYNHOANI SNIVLNOD ONIMYHA SIHL 10Nao¥d I1LIL 133HS (K % 5 &
S
L
2 O
(%0}
T~ AL
No <L
— T w
OZ
/\l
— |-
o'
O N
N
<' 7
o0 —
[Ee] — —
7 — e —
] A
B
—)
T =
L
[\ L Oz
<0
E <
<=
>
<
=
=
Z
L o
%)
<92 S5 ]
0] — ) T
N XX i -3 % <
) - =20 4
290 2
—
X L[
[2'4
=1 — e
O =
20
Z o
Z Z
O z
O O
N < C
= x
< i
= [ W
O
0 o
I‘\
|
i Y
o'
- ~Q =
o >
—_

SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.

2. MAGNETIC TOOL REQUIRED TO DE-ACTIVATE LATCHES TO REMOVE MODULE FROM
CHASSIS.

NOTES: UNLESS OTHERWISE SPECIFIED.

1.



UVNV1d

o

VSN 90026 YO ‘0408ST1IH
IAIHA NOLJWOD 3IN G611
"ONI ‘SINILSAS ¥VYNVY1d

'SINILSAS HYNV1d A9 ONILLIIM

NI @3ZI4OHLNY SSTINN ALYVd QHIHL ANV OL O
SINILSAS ¥YNV1d OL SIDIAYIS 40 ONIHSINGNA
3HL YO S1ONAO0YHd 40 ONIINLOVANNYIN

3HL ¥O4 SISvd SV d3sn 38 LON AVIA ANV ATNO
$3S0dyNd NOILOIdSNI HO/ANY ‘NOILYN VAT
‘ONIYIINIONT ‘NOILYOIHLLNIAI ‘NOILYWHOANI
¥04 A31ddNS SI ONIMYHA SIHL "a3LI8IHOYd

SI SW3LSAS ¥VYNYId 40 NOISSINYId NILLIEM
3HL LNOHLIM 3TOHM O LdVd NI NOILONAOHd3d
ANY “ONI 'SWILSAS HYNV1d OL AYV13IHdOYd
NOILYWHOLNI SNIVLINOD ONIMYYHA SIHL

‘'ON Lyvd

<

'[SIHONI] SYILIWITTIN NI IHY
SNOISNIWIA a314193dS ISIMYTHLO SSTTINN

MBIAJIBAQ JoNpoId

@37 saues WS @B

10NAaoydd

ONILNNOW SS3DJV
1INOdH4 NINSTId

31LIL 133HS

DVE

DRAWN BY

DRAWN DATE

10/01/2024
6 OF 10

SHEET SIZE REVISION

SHEET

A

28.5

30.0

[1.12]
[1.18]

TG
_|._O
—
~™
- B3 —
B>
—_
S~ —
Q
: < /1 = A /1 - A
<= _H_ <= <> :
e - | = & |
- .. “ ° .. [ ] - “ .. (]
N\ || e —
"~
0 QO <
e q S RI
U =
S~ —
— — = <= /1 < _.._ : /__\ < :
— X [V <= <P <>
SN NN _H_ _H_
— O O O . - . N -
i <= = - -
- .. “ ° .. [ ] - “ .. (]
A e N\ || e
3 ) 19 na
Qe
N O
N
‘o'~ N
B 0 0 T < — I
SN N 0
o'o
N
P
(@] <

2. ENSURE THE DISPLAYS ARE MOUNTED FLAT, LEVEL, AND PLUMB.
SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.

1.

NOTES: UNLESS OTHERWISE SPECIFIED.



(m] <
‘ 'SWILSAS ¥VNVd A8 ONILIMM ‘[STHONII SYILIWITTIA NI THY
VSN 90046 4O OHOLSTIIH NI G3ZIMOHLNY SSTINN ALYV QHIHL ANV OL ¥O - SNOISNIWIA d314103dS ISIMETHLO SSTTINN A
IAIHIA NOLJNOD 3N S6L1 SIWILSAS ¥YNY1d OL SIOINYIS 40 ONIHSINGNA .

“ONI ‘SINILSAS HVYNV1d 3HL O SLONAO¥d 40 ONIMNLOVANNYIN ON Lyvd NME=) 3

3HL ¥O4 SISVE SV a3SN 38 LON AVIN ONY ATNO w m ~ |2

>

MBIAJBAQ 10Npo.d > Sl

® H =2
SI SWILSAS ¥YNVd 4O NOISSINYId NILLIMM wm_.hm _ _ __ m_ Om.h_ OZ_FZDO_\/_ mwmoo< & W 2| ~N
3IHL LNOHLIM TOHM ¥O L¥vd NI NOILONG NI D m |— m _w @Hr— l_H. D m<mm _\/_ _ I_ml_o M W - WB
ANV “ONI ‘SWILSAS HYNY1d OL AY1IIMdO¥d . " " . = Z ] ]
NOILVINHOSNI SNIVINOD ONIMVHA SIHL 19$NAao¥d I1LIL 133HS (K % 5 &
M o~
O
—_
~'™
| < 0 Qg -l
—t o gt
™
—_
SN~—— —
.

M5X0.8 THREADED HOLE

N

(7

;

N

'\\“’(// |

302.4

N

.
e & ofF

(

N

.
\

Qy/

N

(

(z2s1])

Qy/

)

.
o

N

[79] ol < 11.91]

A

[26.79]

680.4

[}

64]) 4
1

(@]

[.79]

2. ENSURE THE DISPLAYS ARE MOUNTED FLAT, LEVEL, AND PLUMB.
1. SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.

NOTES: UNLESS OTHERWISE SPECIFIED.



X,
<
ww
< S%a
<= o
w—ig
z =00
F%Q
£330
Q < e
4a
O Q | =52
o~TI
%@ m
Q £, w2
Q
N
- [309] ] Q
78.4 o SHEE T
[21] 60.0
3X (5.3 - [1.57] |< HTI L
$592@EE855z2z:m
FOR WALL —— 40.0 = 157 <
MOUNTING 40.0 ZpyeEEszitas
[35] l |
9.0 A& 4 A L
T ! T Ao | o L —
! f e7] ) - Q2
[2.44]  [75] [63] [1.57] [2.52] [3.08] 17.0 Ay . [1.57] [2.52]  [3.15] = O
62.1 19.0 160 400 640 783 40.0 64.0 80.0 @ E
| A %)
| (_B CD
I 2] I c >
'¢' — O 1
; D o
o 5 g
3X ©5.5[0.22] X 11.0[0.43] - 4X 96.5 c O
SLOT FOR WALL MOUNTING REAR ACCESS MOUNTING REfA%ﬁiﬁﬁsé o0
o [119] }‘* 8X M5X0.8 THRU =0
30.3 FRONT ACCESS MOUNTING 4X M5X0.8 THRU 2
FRONT ACCESS = ;
i MOUNTING [1.30] g O g
33.0 & =
| 20 Q 5
T [5.0] Z o 5
[1.78+.24] = Ll 2
45.3£6.0 ! Sx S
[ @) O s
[ T T AN | \ Ew %é
8 w B
— [31] s | gt
8.0 Hjo E%
EW < o=
ALIGN PIN TIP SECTION A-A 57 i
AND NOTCH FOR SCALE1:2 3 o<
DRAWN BY
NOMINAL POSITION DVE
DRAWN DATE
10/01/2024
1. SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE. e o 10
NOTES: UNLESS OTHERWISE SPECIFIED. e e
4 3 I 2 1



(@] O m <

A

‘ 'SWILSAS ¥VNVd A8 ONILIMM ‘[STHONII SYILIWITTIA NI THY
VSN 90046 4O OHOLSTIIH NI G3ZINOHLNY SSTTNN AL¥Vd QHIHL ANV OL ¥O - SNOISNINIA dFIHI03dS ISIMYTHLO SSFINN
IAIHIA NOLJNOD 3N S6L1 SIWILSAS ¥YNY1d OL SIOINYIS 40 ONIHSINGNA .
"ONI ‘SINILSAS HVYNV1d 3HL YO SLONAO¥d 40 ONIINLOVANNYW ON Luvd
3HL ¥O4 SISVE SV 03SN 38 LON AVIN ANV ATNO
$3S0dHNd NOILOIJSNI HO/ANY ‘NOLLYNTVAI >>® _ ®> 0 : O mu Z _ |_| Z D O _\/_
~ ‘ONIYIINIONS ‘NOILVOIILNIA! ‘NOILYWHOANI >L O H. U .h &
@ 404 A311ddNS S| ONIMYYA SIHL ‘a3LISIHONd . |_|mv._ O<m m
SI SWILSAS ¥YNVd 4O NOISSINYId NILLIMM w m _L m _ _ _ _ m _ O m.h _
3HL LNOHLIM FTOHM HO L¥Vd NI NOILONAO¥dIY D m |— m _ w @H F\_ l_H. D I_ I_<>> _\/_ _ I_ ml_ D
ANY “ONI ‘SWILSAS ¥VYNY1d OL AMV13IYdONd " " " "
NOILVINHOSNI SNIVINOD ONIMVHA SIHL 19$NAao¥d ERIMINEENS
—_
~'o
)
0
SN—

—_
—1

4

A
[80
2041

Y

|

[ 52 T E
‘o'~
RN
O 0
_“_2
2~ ) i i |
e EE et W
'~
SaNeN
— O
_“.3
) 68 68 e |
o] A oot ’
—
o' N
o n» o
_w_.l _“.mvu
S~ —
CX % % [k
¥l O 9. 0
~
I
o
I}

262.4

f‘
s ) o
3z
uﬂg
2o
Ead
3s

N.57] o lQ[1033] 1o [1191] Ll
40.0

640.4
Y
A
[26.79]

[25.21]
680.4
Y
A
< [25.21] )
640.4

[1.57]
40.0

DVE

DRAWN DATE
10/01/2024

9 OF 10

SHEET SIZE REVISION

DRAWN BY
SHEET

AND CHASSIS ON THE OUTER EDGE OF THE WALL MINIMUM.

2. WALL MOUNTS TO BE USED ON BOTTOM ROW OF CHASSIS, A CENTER COLUMN OF CHASSIS
SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.

3. SEE MOUNT ACCESSORY SHEET FOR DETAILS.

NOTES: UNLESS OTHERWISE SPECIFIED.

1.



>

TRIM INSTALLATION HORIZONTAL TRIM m r
()]
< S%a
<= o
(,52,9
=02
ke
HORIZONTAL TRIM [11.89] Z 20
302.0 < 232
$48
- | EE
. [293] 18 e A\ "
> 744 | aa s sttt T s s s
-\ c::::::::::::':ﬁ:::::::::
VERTICAL T
TRIM e SR
. 0% 528838850
& foigieslszic
VERTICAL TRIM {HHTH
s [2.93]
74.4 a
v I —
VERTICAL "
TRIM O =
-, \ q:) 5
~ ® %) GE)
/
@ ES| .
0
® O
HORIZONTAL TRIM © >
c O
o2
0O
B
&)
()]
[26.77] g = g
680.1 g O z
—
Ll Z
Z :
2s | I
oF
OF 52
o S |
6. KEEP PERFORATIONS AREAS CLEAR FOR VENTILATION., ® £ o2
5. USE M5X0.8 16MM LONG FLATHEAD SCREWS TO ATTACH TRIM, PLAN TOOL ACCESS e e
ACCORDINGLY FOR EXTERNAL INTERFERENCES. \ t 24
4. REMOVE ALIGNMENT PINS AND RETRACT CONNECTOR FOR TOP TRIM ATTACHMENT. o
3. REMOVE ANY INSTALLED M5 CAPTIVE SCREWS FROM THE BOTTOM ROW AND LEFT COLUMN DVE
OF THE WALLL. V DRAWN DATE
2. TRIM IS 2mm THICK. 10/01/2024
1. SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE. o 10
NOTES: UNLESS OTHERWISE SPECIFIED. s e

4 3 2 1



	DIRECTLIGHT SLIM OUTLINE
	KEY & INDEX
	DLSLIM PRODUCT OVERVIEW
	Drawing View123
	Drawing View124
	Drawing View125
	Drawing View126
	Drawing View128
	Drawing View129
	Drawing View130

	DLSLIM CHASSIS OVERVIEW
	Drawing View77
	Drawing View78
	Drawing View79
	Drawing View80
	Drawing View83
	Drawing View84
	Drawing View85
	Detail View B (1 : 4)

	DLSLIM MODULE OVERVIEW
	Drawing View21
	Drawing View22
	Drawing View24

	DLSLIM FRONT ACCESS MOUNTING
	Drawing View133
	Drawing View134

	DLSLIM REAR ACCESS MOUNTING
	Drawing View131

	DLSLIM Mounting Accessories
	Drawing View135
	Drawing View136
	Drawing View138
	Drawing View139
	Drawing View140
	Section View A-A

	DLSLIM WALL BRACKET MOUNTING
	Drawing View51
	Drawing View56

	DLSLIM CABINET TRIM
	Drawing View33
	Drawing View59
	Drawing View68
	Drawing View70
	Drawing View89


